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f)=2t+] f(t-r)e"dr » &2 () - (10 2)

4

- ~ Ry =y% i 12 (general solution) - (10 4 )

Ff(X)=x—x*ehiE = FE B (Fourier expansion) - (20 4 )
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R C ehdded TN 5 x=t2 y=—t » z=t> ; A 1<t<2 5 &
jxdx—yzdy+ezdz - (10 &)

I~ Ry, ) =Xy —xy +x2® %1 -1 (1, -2,1) % wareg s (rate
of change ) - (10 » )

3 0 -2
=~ ~A=|0 2 0>
-2 0 0

O FH 778 & (determinant) - (5 4 )
O FFcie (eigenvalues) & H 43/ chsF s £ (eigenvectors ) - (10 4 )
&P @ P'AP 2 Az ¥t 4& v (diagonalized) #&* - (5 4 )

S s afp(X)=a(x+1)H P 0<x<2 0 RKins & ool ¥ & (expected
value) % % 2 #c (variance) - (20 4 )



